



Blades & Scalpels

Finding a better way
in surgical precision and safety

Enhancing Precision. Elevating Safety.



At Southmedic, precision and safety come first.

Our polymer-coated blades and Precision Plus Safety Scalpels (PPSS) are engineered to deliver smoother cuts, reduce tissue trauma, and help protect surgical teams from accidental cuts and punctures. For more than 40 years, we've been designing and manufacturing innovative solutions trusted by surgeons and healthcare professionals worldwide.

From advanced blade coatings to proprietary safety mechanisms, our products are built to support clinicians with tools that inspire confidence in every procedure.

- Sharper, smoother cutting edges
- Designed to reduce tissue drag and trauma
- Precision Plus Safety Scalpels (PPSS) with an intuitive safety mechanism
- Disposable safety systems to prevent accidental cuts during hand-off
- Sterile and non-sterile options across a wide range of blade sizes

Polymer-Coated Blades

Sharper. Smoother. Safer.

Our unique polymer-coated blades are designed to glide with clean precision for less tissue trauma. Unlike regular surgical blades, Southmedic blades reduce drag – giving surgeons greater control and a smoother experience.

It's the kind of difference a surgeon can feel.



Polymer Coated Surgical Blade

Even cutting edge

Smooth, clean cut is illustrated by cutting through 10 mm polystyrene (magnified 750 times). Our precision grinding technology coupled with our advanced polymer coating process, provides a significantly improved cutting edge.

Regular Surgical Blade

Irregular cutting edge

A regular surgical blade leaves a ragged edge as indicated by a lack of uniform smoothness when cutting the polystyrene.

Polymer-Coated Blades

BLADE	PART ID	PACKING
10	73-0410	300 Blades, 6 Boxes of 50
11	73-0411	300 Blades, 6 Boxes of 50
15	73-0415	300 Blades, 6 Boxes of 50
20	73-0420	300 Blades, 6 Boxes of 50
21	73-0421	300 Blades, 6 Boxes of 50
22	73-0422	300 Blades, 6 Boxes of 50
23	73-0323	50 Blades/Box

Dermaplaning Blades

BLADE	PART ID	PACKING
10R	73-0410R-50	50 Blades/Box

The polymer-coated 10R blade delivers precise, non-invasive exfoliation ideal for delicate dermaplaning procedures. Each sterile stainless-steel blade is designed to glide confidently across the skin, effectively removing vellus hair and surface debris for a smoother, more even finish. Often referred to as a butter blade, the 10R may also be used for controlled skin resurfacing.

Sterile Stainless Blades & Disposable Scalpels

Trusted Reliability

Southmedic's sterile and non-sterile stainless-steel blades deliver dependable performance with consistent sharpness and strength. Our disposable scalpels provide the same trusted quality and are available in a variety of surgical blade sizes. Designed for both right- and left-handed use, each scalpel features a dual-sided depth indicator for improved control.



Consistent Sharpness

Reliable performance every time

Wide Range

Available in multiple surgical sizes

Durable Stainless Steel

Strength for demanding procedures

Scalpels

BLADE	PART ID	DESCRIPTION	PACKING
10	73-0110 73-0210	Sterile Disposable Non-Sterile	10 Scalpels/Box, 10 Boxes/Case, 1,000 Scalpels/Case, Bulk
11	73-0111 73-0211	Sterile Disposable Non-Sterile	10 Scalpels/Box, 10 Boxes/Case, 1,000 Scalpels/Case, Bulk
15	73-0115 73-0215	Sterile Disposable Non-Sterile	10 Scalpels/Box, 10 Boxes/Case, 1,000 Scalpels/Case, Bulk
20	73-0120	Sterile Disposable	10 Scalpels/Box, 10 Boxes/Case
21	73-0121 73-0221	Sterile Disposable Non-Sterile	10 Scalpels/Box, 10 Boxes/Case, 1,000 Scalpels/Case, Bulk
11	73-0911	Disposable Mini-Scalpel Non-Sterile	5 Bags of 100, 500/Case

Sterile Stainless Blades

BLADE	PART ID	PACKING
10	73-0010	150 Blades/Box
11	73-0011	150 Blades/Box
15	73-0015	150 Blades/Box
20	73-0020	150 Blades/Box
21	73-0021	150 Blades/Box
22	73-0022	150 Blades/Box

Non-Sterile Stainless Blades

BLADE	PART ID	PACKING
22	78-0322	150 Blades/Carton
60	78-0360	150 Blades/Carton

Precision Plus Safety Scalpels (PPSS)

Precision Meets Protection

Southmedic's Precision Plus Safety Scalpels (PPSS) combine sharp performance with advanced safety features. Featuring a bright orange handle for easy identification and a retractable guard, these scalpels are designed to protect both patients and surgical teams.



Bright Orange Handle

Easy identification in the OR

Polymer-Coated Blade

The sharpest, smoothest cut available

Advanced Retractable Guard

Locks securely for safe disposal

One-Handed Activation

Suitable for right- and left-handed use

Lock Indicator Line

Confirms blade is safely secured



Precision Plus Safety Scalpels

BLADE	PART ID	DESCRIPTION	PACKING	SHIP UOM	QTY
10	73-0710 73-1710	Sterile Non-Sterile	10 Scalpels/Box, 12 Boxes/Case (50/TRAY, 10/CS)	CS	120 500
11	73-0711 73-1711	Sterile Non-Sterile	10 Scalpels/Box, 12 Boxes/Case (50/TRAY, 10/CS)	CS	120 500
15	73-0715 73-1715	Sterile Non-Sterile	10 Scalpels/Box, 12 Boxes/Case (50/TRAY, 10/CS)	CS	120 500

Disposable Safety Scalpels and SPSS



Closed Safety, Open Confidence

Reduce the risk of accidental injuries with the first truly closed disposable safety scalpel system. Southmedic's SPSS Disposable Scalpels feature a polymer-coated blade for smoother cuts and a unique safety tab for protection.

Polymer-Coated Surgical Blade

Regarded as the sharpest, smoothest edge available

Safety Tab for Optimum Protection

Guards against accidental injury during installation

Easy Loading & Disposable Cartridge

Safe, simple use and disposal

Clear Plastic Sheath

Complete visibility with thumb rest for ease of use

SPSS Disposable Scalpels

BLADE	PART ID	DESCRIPTION	PACKING
10	73-9010 73-9210	Sterile Disposable Non-Sterile Disposable	10/Box, 10 Boxes/Case 100/Bag, 5 Bags/Case
11	73-9011 73-9211	Sterile Disposable Non-Sterile Disposable	10/Box, 10 Boxes/Case 100/Bag, 5 Bags/Case
15	73-9015 73-9215	Sterile Disposable Non-Sterile Disposable	10/Box, 10 Boxes/Case 100/Bag, 5 Bags/Case
20	73-9020 73-9220	Sterile Disposable Non-Sterile Disposable	10/Box, 10 Boxes/Case 100/Bag, 5 Bags/Case
21	73-9021 73-9221	Sterile Disposable Non-Sterile Disposable	10/Box, 10 Boxes/Case 100/Bag, 5 Bags/Case
22	73-9022 73-9222	Sterile Disposable Non-Sterile Disposable	10/Box, 10 Boxes/Case 100/Bag, 5 Bags/Case

Disposable Safety Scalpels

BLADE	PART ID	DESCRIPTION	PACKING
10	73-0610 73-1810	Sterile Disposable Non-Sterile Disposable	120/Case, 10/Box, 12 Boxes/Case 500/Case, 50/Tray, 10 Trays/Case
11	73-0611 73-1811	Sterile Disposable Non-Sterile Disposable	120/Case, 10/Box, 12 Boxes/Case 500/Case, 50/Tray, 10 Trays/Case
15	73-0615 73-1815	Sterile Disposable Non-Sterile Disposable	120/Case, 10/Box, 12 Boxes/Case 500/Case, 50/Tray, 10 Trays/Case
20	73-0620 73-1820	Sterile Disposable Non-Sterile Disposable	120/Case, 10/Box, 12 Boxes/Case 500/Case, 50/Tray, 10 Trays/Case
21	73-0621 73-1821	Sterile Disposable Non-Sterile Disposable	120/Case, 10/Box, 12 Boxes/Case 500/Case, 50/Tray, 10 Trays/Case
22	73-0622 73-1822	Sterile Disposable Non-Sterile Disposable	120/Case, 10/Box, 12 Boxes/Case 500/Case, 50/Tray, 10 Trays/Case
60	73-1860	Safety Autopsy Scalpel Non-Sterile Disposable	500/Case, 50/Tray, 10 Trays/Case



SPSS Metal Handle Safety Scalpels

Reusable Safety with Familiar Feel

The SPSS Metal Handle Safety Scalpel combines the weight and balance of a traditional scalpel with Southmedic's innovative safety cartridge system.

Polymer-Coated Surgical Blade

Smooth, sharp precision with less tissue trauma

Reusable Handle

Cost-effective and reduces waste

Metal Handle

Same weight and feel as a conventional scalpel

Customized Ruler

Designed into the reverse of the handle

Clear Plastic Sheath

Visibility and safety during use



SPSS Safety Scalpel Blades

BLADE	PART ID	DESCRIPTION	PACKING
10	73-8010 73-8210	Sterile Non-Sterile	50/Box, 3 Boxes/Case 100/Bag, 5 Bags/Case
11	73-8011 73-8211	Sterile Non-Sterile	50/Box, 3 Boxes/Case 100/Bag, 5 Bags/Case
15	73-8015 73-8215	Sterile Non-Sterile	50/Box, 3 Boxes/Case 100/Bag, 5 Bags/Case
20	73-8020 73-8220	Sterile Non-Sterile	50/Box, 3 Boxes/Case 100/Bag, 5 Bags/Case
21	73-8021 73-8221	Sterile Non-Sterile	50/Box, 3 Boxes/Case 100/Bag, 5 Bags/Case
22	73-8022 73-8222	Sterile Non-Sterile	50/Box, 3 Boxes/Case 100/Bag, 5 Bags/Case

SPSS Safety Scalpel Metal Handles

PART ID	SIZE	PACKING
73-8030-1	#3	1/pkg
73-8031-1	#3L	1/pkg
73-8040-1	#4	1/pkg

We're proud of
Finding A Better Way
for patients, clinicians, and
healthcare systems
worldwide.



Manufactured by:
Southmedic Inc.
50 Alliance Blvd.,
Barrie, ON Canada L4M 5K3
www.southmedic.com

email: custserv@southmedic.com
1-800-463-7146 Toll free in North America
1-705-720-1902
1-705-728-9537 Fax

